Top 10 Set Z Level 3-5

Test 1

	Question


	Support
	Answer

	
	
	

	
	£290
	

	
	
	

	
	7 x (3 + 4)
	

	
	£150
	

	
	
	

	
	
	

	
	2x + 1
	

	
	
	

	
	
	


Top 10 Set Z Level 3-5

Test 2

	Question


	Support
	Answer

	
	
	

	
	£70
	

	
	
	

	1. 
	15 – (3.9 + 6.1)
	

	
	12
	

	
	
	

	2. 
	
	

	
	2 (m + 1)
	

	
	
	

	
	
	


 Top 10 Set Z Level 3-5

Test 3
	Question


	Support
	Answer

	
	
	

	
	£60
	

	
	
	

	1. 
	30 ÷ (7.2 + 2.8)
	

	
	
	

	
	
	

	2. 
	
	

	
	b = 10a - 2
	

	
	
	

	
	
	


Top 10 Set Z Level 3-5

Test 4

	Question


	Support
	Answer

	
	
	

	
	£40
	

	
	
	

	
	0.4
	

	
	
	

	
	
	

	
	
	

	
	h = 3m + 4
	

	
	
	

	
	
	


Top 10 Set Z Level 3-5

Test 5

	Question


	Support
	Answer

	
	
	

	
	30%
	

	
	
	

	
	17 – (6.2 + 4.8)
	

	
	£30
	

	
	
	

	
	
	

	
	a = 6b - 4
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